5| 17 P CE 113 EALE
ELTEEEG G E

i}

%P TARTIEEBZRAE
BE: TIEHE

my =

J\

EFEHBL 2B HEET  FOEREERE)RY - REMABHE B

- BEIEEH -

CEEAGH - BEEBRATEER NFRZEIRKE ; ABR - FREZRE

KEZLEXEIN  FrEmEBEEE Mk TEERE FEHIAKES)
HRUANERBEREDE -

ESBERUTELPENE  nRTIUEE B0 A
CEEARMEER  BURERERE(F) LOEEERESEER - N5

AEIELEIBEAASRE -

BREVARESRENEARZRFER EXFEaEf L EATE D
EEAEEAER BRE(F)LOINZEDSRESR - SR EREBLE

& ARATED -

- BREIRAE  RREEF(CIERGSE) ZSXCSREFBERTE - A
B BURSCERSUEERE B RIRE - TARERZLEUS - EZERBN
BERERA 2O F MR -

"

SARGTERNBEERE A EEE  ARRELES -
OE GRS E M G EE N A - I, - RS - ThAE
1 -

 BHERER%  EERERERE(E)—HEE - FEELRS -
REREEIL  BARIS S EE RS -




BYTPEAE 113 BFEELIHBEZHHEE

BB IENEZ 2P IARTREEBZHAMA
XAREIKEEARE "ol EHETERH

FHEERLIEY
' B <40%>
(B FAREELEEEREE)

1. Which of the following is the SI unit of force?
A) kg m, B) kg m?, C) kg m?/s, D) kg m/s?

2. The moment is the cross product of which of the following two vectors/scalars?
A) Force and Radius scalars
B) Radius and Force scalars
C) Force and Radius vectors
D) Radius and Force vectors

3. Work done is said to be zero, when

A) Some force acts on a body, but displacement is zero

B) No force acts on a body but some displacement takes place
C) Both (A) and (B)

D) None of the above

4.The total momentum of a system of masses (i.e. moving bodies) in any one direction remains
constant, unless acted upon by an external force in that direction. This statement is called
A)Newton's first law of motion,

B)Newton's second law of motion,

C)principle of conservation of energy,

D)principle of conservation of momentum

5 . Two parallel forces are acting at a distance of 24 mm apart and their resultant is 20 N.
It the line of action of the resultant is 6 mm from any given force, the two forces are
A)15Nand 5N, B)15Nand 15N, C)20 N and 5 N, D)None of the above

6. A piece of metal (E=30 GPa) with an initial length (L=7.2 cm) is subjected to a normal
compressing stress of 250 MPa. What is the new length of the material
A) 7.14 cm, B) 7.26 cm, C) 52.8 cm, D) 67.2 cm
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7. The force induced in the string BC due to the load W as shown in the below figure is
A

lB

W

A) Wcot, B)yWtan0, C)Wcos8, D)Wsin6

8. If the masses of both the bodies, as shown in the below figure, are doubled, then the acceleration
in the string will be

mz

my

A) same, B) half, C) double, D) None of the above

9. Moment of inertia of a hollow circular section, as shown in the below figure about X-axis, is

A) 1/64 (d*-d*), B) n/32 (d*-d*), C) n/16 (d*-d°), D) n/16 (d>-d?)

10. The maximum deflection of a cantilever beam of length I with a point load W at the end is
A) WI¥/3EI, B) WI¥/SEI, C) WI3/16EI, D) WI3/48EI
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